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— ~ Multiple Chioices (25%}
1. () Entries for cash dividends are required on the:
(a) declaration date and the payment date.
(b) record date and the payment date.
(¢) declaration date, record date and the payment date.
(d) declaration date and the record date.
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) Which is ar: example of a cash flow from an operaling activity?
(a) paymenti ot cash to lenders for interest.

(b) receipt of cash from the saie of ordinary shares.

(¢) payment of cash to reacquire shares.

(d) None of the above.

3. ( ) Scout Corperation has income before taxes of $400,000, loss on operation of a discontinued
division of $40,000, and a $60,000 loss on disposal of a division. If the income tax rate is
25% on all items, the income statement should show income from continuing operations and
net income, respectively, of:
(a) $400,000 and $300,000.
(b) $400,000 and $225,000.
(¢) $300,000 and $200,000.
(d) $300,000 and $225,000.

4. ( ) Which of the following measures 1s an evaluation of a firm's ability to pay current liabilities?
(a) Acid-test ratio.
(b) current rauio.
(c) both (a) and (b).

(d) Return on assets.

5.( ) In the statement of financial position, the cost of treasure shares is deducted in:
(a) expenses.
(b) revenues.
(c) equity.
(d) liabilities.
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—~An am}\,w:. nt comparative siatements of financial position, the current year's income statement,
and the general ledger accounts of Solomon Co. uncovered the following items. Assume all items
involve cash uniess there is information to the contrary. (14%)

(a) payment of interest on notes payable.

(b) exchange of land for pateni.

(¢) sale of building at book value.

(d) payment of dividends.

(e) depreciation.

(f) receipt of dividends on investment in shares.

(g) receipt of interest on notes receivable.

(h) issuance of share capital-ordinary.

(i) amortization of patent.

(j) issuvance of bonds for land.

(k) purchase of fand.

(1) conversion of bonds into ordinary shares.

(m) loss on sale of land.

(n) retirement of bonds.

Instructions
Indicate how each item should be classified in the statcment of cash flow using these four major
classifications; operation activity (indirect method), investing activity, financing activity, and

significant non-cash invesiing and financing activity.
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v9 ~ Rees Corporation experienced a fire on December 31, 2014, in which its financial records were
parfially destroyed. It has been able to salvage some of the records and has ascertained the
following balances.

December 31, 2014 December 31, 2013

Cash $ 30,000 $ 10,000
Accounts receivables (net) 73,000 126,000
Inventory 200,000 180,000
Accounts payable - 50,000 90,000
Notes payable 30,000 60,000
Share capital - ordinary, $100 par 400,000 400,000
Retained earnings 134,000 122,000

Additional information: 3F#E T &L > FRIATFH L
The inventory turnover is 3.4 times

The return on ordinary shareholders' equity is 25%.

The accounts receivable turnover is 8.8 times.

The return on assets is 20%.
Total assets at December 31, 2013, were $650,000.
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Instructions (20%)

Compute the following for Rees Corporation.
(a) Cost of goods sold for 2014.

(b) Net sales (credit) for 2014.

(¢) Netincome for 2014.

(d) Total assets at December 31, 2014.
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7% ~ Nanjing Corporation purchased from its shareholders 5,000 shares of its own
previously issued shares for $250,000. It later resold 2,000 shares for $54 per share, then
2,000 more shares for $49 per share, and finally 1,000 shares for $40 per share. (8%)

Instructions

Prepare jouwrnal entries for the purchase of the treasury shares and the three sales of treasury
shares.
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